Jamaum 1.1 — 1.30. Pemurs rpadruecku caeayromue 3amayun JIIT.
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11 | f=x-2x, > min; 1.2 | f=5x+3x, > max,
(x, —x, <1, 3%, +5x, <15,
X +x,22, $5x, +2x, <10,
<x1—2x2§0, X 20, x 20
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13 | f=x+3x, > max; 14 | f=2x43x, > max;




1.5 | f=2x,+3x, > min, 1.6 | f=x+x, > max;
3x, +2x, =6, (x, +2x, <10,
x, +4x, 24, x, +2x, 22,
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1.7 | f=3p,+2p, > max,; 1.8 | f=2p, +3p, > min;
2p, +3p, <21, p, +3p, 212,
4p, +p, <17, 2p, + p, <10,
p,20, p,20 p,z20, p,20
1.9 | f=2x +3x, > max; 1.10 | f=4x +6x, > max;
2x, +4x, <9, (2x, +3x, <7,
5x, +x, <6, 2x, +x, <5,
x, 20, x,20 <2x1+4.>c239,
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.11 | /=5x+2x, > max, 1.12 | f=2x, +8x, — max(min)
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1.13 | /=2x,-3x, > min; 1.14 | /=-3x,-4x, > min;
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1.15 | f=-6x,-2x, > min; 1.16 | f=x,+x, > min;
2x, +4x, <9, (X, —x, 21,
¢3x, +x, <6, 2x, +x, <10,
X, 20, x,20 <x120,
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1.17 | f=-x+x, > min; 1.18 | /=5x+3x, > max;
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.19 | f=-x+x, > min; 1.20 | f=x+2x, > max,
2x, —x, <4, 3x, - 2x, <6,
X, —Xx, <2, —-x, +2x, <4,
Ix +x, <5 13x +2x, <12,
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1.21 | f=2x+x, > max, 1.22 | f=T7x,+5x, > min;
(—x, +x, <2, (X, +x, >3,
x, +2x, <7, X, +5%, 25,
<4x1—3x2£6, <2x1+x224,
x, 20, x,20 x, 20, x,20




123 | f=x+Xx) > max. 124 | f=2x1+x) - min
—x, +3x,<6, | 3x, - x, 21,
$3x, - x, <6, $= X +3x, 25,
X, 20, x,20 x, 20, x,20

125 | f=8x+4x) > max. |1.26  [f=x+2x, > max.
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127 | f=x+2x, > max, 1.28 | f=2x1+x) &> max
(3x, +2x, <6, - 2%, +x, <2,
<x; —3x, <3, 4 %, <2,
X, >() %, 20, Xx,20
1.29 | f=2x +4x, > max; 1.30 | /=5x; + 4x; - max
et <6 6M+4@5 24
L= W+ 2B < 6
3x, +2x, <12, B- @< 1
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